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General Instructions

» Working time: 55 minutes

= Attempt questions: 1-3

* Start each question in a new booklet
using a new page for each geometry
question in question 3

* Write using black or blue pen only.

* Board-approved calculators may
be used.

* All necessary working must be shown.

= Marks may be deducted for careless or
badly arranged work

Student Name:/

Total marks — 40

.QUESTION 1 (12 marks)

(a) Draw a number plane and on it plot A(-4,0) B(4,0) and C(0,8)

(b) Find the gradient of AC and show that the equation of the line
lineACis 2x-y+8=0

(¢} If Pis the point (0,3) find the perpendicular distance from P

to the line AC

(d) Find the coordinates of Q and R which are the midpoints of
AC and BC respectively

(e) Show that QP is perpendicular to AC

(f) Show that the lengths of AP, BP and CP are all 5 units

‘ {¢) Find the equation of the circle passing through 4, Band C
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QUESTION 2 (16 marks) START A NEW BOOKLET

(a)

(0

)

(e)

®

If the roots of the equation px®-x+¢=0 are-2 and 5 find
the values of p and g

If o and B are the solutions of x* — px +2p =0 find in terms
of p the values of:

M a+p’ () ap i) (o-2)(3-2)

For what values of k does the equation 2x® - 4x+ k=0 have
no real roots?

Show that the graph of y = x* + (p - 2)x — p always crosses
the x axis in two distinct places where p is real.

A parabola has its axis parallel to the y axis. Find the equation
of this parabola if the focus is S(3, 2) and the equation of the
directrix is y=-6

Solve 7x® =8-x°®
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QUESTION 3 (12 marks) START A NEW BOOKLET

USING A NEW PAGE FOR EACH OF (a), (b) and (¢)

(a)  Inthediagram below AP=PQ=QC and PQRS is a rhombus.
Copy the diagram onto your answer page

()  If LSAP = x° prove that ZSPQ =2x°

Prove that ZABC = 900‘ 2

DIAGRAM
NOT TO
SCALE

In the diagram above ABCD is a rectangle and E is a point on DC 4
Copy this diagram onto your answer page

If LEAB = £EBA prove that E is the midpoint of DC
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PN is a diagonal of the rectangle MNOP. R is a point on PO and ZPQR =90°

1 Prove that APOR is similar to ANMP 2

(ii)  Given MP=5cm, MN=10cm and QR=2cm find the length of PQ 2
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